AN
AYd

HANSH

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

01512273 HANSAPRADO - Wannenfiill- und Brausebatterie

EAN: 4015474135567

statichansa.com/01512273

Ersatzteile

SP01512273

Name Art.-Nr.
1 Hebel, L=86 mm Chrom 01580073
11 Schraube, M5x8, SW2.5 59904755
12 Kunststoffadapter 59904778
13 Dekorkappe Grau 59912112
2 Abdeckkappe Chrom 59913068
3 Schraube, M50x1, SW45 59913069
31 0-Ring, d 48x2 59913072
4 Kartusche, 4.8 eco 59904601
41 Warmwasser Begrenzer 59904759
5.1 Distanzring 59906787
53 0-Ring, 42x3.5 59904764
55 Befestigungsplatte 59904765
56 Schraube, M8x1, SW13 59904766
5.7 Befestigungssatz 59912113
58 AnschluBschlauch 59913071
5.9 AnschluRschlauch, L=430, G3/8-M10x1 59912515
510 0-Ring, d 7.65x1.78 59902337
51 Dichtung, 9.5x14.4x2 59912551
512 Befestigungsschraube, M8x1, L=140 59912474
6 Luftsprudler, M24x1 B Chrom 59905872
6.1 Luftsprudler, M22/M24 59905873
7 Umsteller, automatisch 59912706
71 Umstellknopf Chrom 59912801
72 Riickflussverhinderer 59905714
8 Halter Chrom 59912880
N.I. Schliissel, SW45/SW50 59905190

1


https://static.hansa.com/01512273

